Q4.

Q5.

5 1Q 1H 1Q 1H 1Q 1H L=0

2 ——1iF —1F ——1F v,

Fig. 3 (b)

' B. For the ladder network of Fig. 3(b), find the driving point-impedance at the 1 — 1 terminal

with 2 — 2’open.

A. Find transmission parameters for the two-port network shown in Fig. 4 (a)

Low00 15 L
N
- A 2 o
v, ’—\ gzsc D éz«ou(o v,
b’ A 5
o o
Fig. 4 (a)

Express the reciprocity and symmetry criteria in term of inverse hybrid and transmission
parameter of two port network.

Test the polynomial P(s) of Hurwitz property.
P(s) =s®+3s>+8s*+ 1553 + 175 + 125 + 4

Realize all Foster and Cauer forms of the following impedance function
(s+1)(s+3)
VA = 7

(S) s(s+2)

)

)

(5)

)
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Note:
1. All Questions are compulsory 2. Draw the relevant diagrams/figures

3. Assume data wherever required

Q1. A. Obtain current lo in Fig. Fig.1 (a) using Norton’s theorem. (5)
o
sa g e D3
T sa 40 200
}——«ww————@}———— . '
g 100 5o i
WLV ? ‘E‘: M ? i H0e™ i V = 0.1 F @ Mo v
b
I (a)
B.  Find v,(t) in the circuit of Fig. 1 (b). Assume v,(0) =5 V. &)

Q2. A. For the network shown in Fig. 2 (a), write down the tie-set matrix and obtain the network (%)
equilibrium equation in matrix form using KVL. Calculate loop currents. {Use branches

with 402, 6€2, and 2Q (T-Section) as twigs}.

20 @s v
a9 D 642
A
60 ) 20 ) aQ
12V b f 6V
2 (a)
Q3. A. The transform voltage of a network is given as (5)
3s
Vis) =

(s+2)(s2+25+2)

Draw its pole-zero diagram and hence obtainV/ (t).
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